1. Find the general solution to the following differential equation.
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2.Solve the following IVP given »{0) = 1 and 2/(0) = 0.
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3.Evalnate the surface integral j js Glz,y, 2)dS given G{w,y,z) = 2y and S is the portion of the
paraboloid 22 = 1 + 2% + yz in the first octant bounded by 0 <2 < T and 0 <y < 1.
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4. Suppose there is a spring-mass system at rest at equilibrium with a mass of 2 kilograms attached
to a spring with spring constant 32 ;’}I Starting at time t = 0 a force of f{t) = G8c¢ *cos(4t) is
applied. Find the equation of motion in the ahsence of damping.
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5.Find the general solution to (= + a)%y” + (& + a)y’ — y = 0. Note, your answer will incorporate
the variable a.
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6.Find all g(y} such that the following line integral is path independent,
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7. Evaluate the following line integral where C is the boundary of the region determined by the
graphsof 2 =0, 22+ =l and x > 0
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